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	a     ml
	
	
	

	b    ml 
	
	
	

	c    ml
	
	
	


Tulokset

Kokonaisalkali = NaOH + Na2S+ Na2CO3
= 8,0 * c * hapon pitoisuus =               NaOH g/l
= 8,0 * c * hapon pitoisuus =               NaOH g/l

= 8,0 * c * hapon pitoisuus =               NaOH g/l

Titrautuva alkali = NaOH + Na2S

= 8,0 * b * hapon pitoisuus =                NaOH g/l

= 8,0 * b * hapon pitoisuus =                NaOH g/l

= 8,0 * b * hapon pitoisuus =                NaOH g/l

Vaikuttava alkali = NaOH + ½Na2S

= 8,0 * a * hapon pitoisuus =                NaOH g/l

= 8,0 * a * hapon pitoisuus =                NaOH g/l

= 8,0 * a * hapon pitoisuus =                NaOH g/l

Sulfiditeetti = Na2S / (NaOH + Na2S ) *100%
= ( 2b-2a)/b * 100%=

%
= ( 2b-2a)/b * 100%=

%

= ( 2b-2a)/b * 100%=

%

Kaustisoitumisaste = NaOH /( NaOH + Na2CO3 )

= (2a-b) / (2a-2b+c) * 100%=     
%
= (2a-b) / (2a-2b+c) * 100%=

%

= (2a-b) / (2a-2b+c) * 100%=

%
